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S1.No. : Total No. of Pages : 8+1 Graph
VI Semester B.B.M./B.B.A. Examination, April/May 2019
' (Scheme : NRS - 2014)
(Freshers of May/June 2017 & onwards)
BUSINESS STATISTICS - 11

Time : 3 Hours Max. Marks : 80
Instruction :  Answer all parts.
QR RAnene 30X,

PART - A
Rl - 9

Answer any three questions. 15 marks each.
clmRoeote Red IBAYR YuIdA IR IS WO
Q1) a) From aclass of 30 boys and 40 girls, two students aria selected at random.
Find the probability that both the students are;
1) Boys
i) Gurls
i) One boy and one girl

30 STy DX 40 BRBNOLT aTLI IoRSCWCT, 2 JTRRFNVES,
C3TT 28 Faoh ‘dc&s Sk@oEn, Quie &)mﬁaifﬂfk
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b} Two dice are rolled once. Write a sample space and find the probability
for the following.
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i) Sum of the numbers on the dice is equal to 5.
ii) Both the dice show odd numbers.

'

iij) Sum of the numbers on dice is multiple of 3.

.
DO VNV, wid) wwtbvamen ©TT IRTOND (sample space)
20T, VAT JoPITAeoDIoDT, F0E LBIWD.

) ooy vnd abeweabw RoLniv Bnd 5 vmen
ii) QOB UNd e DT JoLnwd B3 JoZrivemen
i) 0@ Tov¥ne e W KoLBnd I3y 30 vy TR

Q2) 8 coins are tossed 256 times. The number of heads observed at each throw

are given below.
r |
Number of heads |
ot each throw 0 1 2 3 4 | 5 6 | 7| 8
1
Frequency 216 | 3052|6756 |32]10] 1

Find the expected frequencies and their mean and standard deviation under
Binominal Distribution method.

256 RO 8 JONUYRY, WNIINT. T3 FO TPRSTW, BRI WO
BE RV, 81 §9scEcd derdoand.
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| |
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SinTIor 2163052 67‘56'32.10 1
1
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Q3)

Q4

A flower vendor buys fresh Roses at Rs. 500 per box from & Rose Farm and
sells at Rs. 700 per box. Roses unsold at the end of the day are disposed off.
The Demand varies from 10 to 14 boxes in a day, Prepare a pay off Table and
an opportunity loss table with calculations of payoffs and opportunity loss.

Find the best Alternative course of action under the following criterion.

)  Maximax Criterion
i) Minimax Criterion
ii) Laplace Criterion

W) BRWT SOCDRINRG, THod SRcid0d T NXRY BRIT ﬁ!.gicm;b&
T3 aﬁe.yiﬁ dn. 500 0o DoeHA, Tn. 700 dod IPTS mamsgaﬂ. [ahia)
BRSohY IT BRRVA, LXBCIHIS. OFFROTE, 10 dod 14 ByASSA
o8 T ZeRBN WBLRRHITO Nobk, Je-uT* W) OTTT I[ID,
dﬁi T3, JFe oF DY, VINT IF 13.1'-)c*a:’.yfasf'ci:g1 k% Jand. 89N
Snstons, BHIoN HRohO SHIT TJodrodh FHTW, FomHLAD.

) rdg SwIToR
i) 3 SeScoR
i) CRIFTRXS Aanhvtalelr )

A Machine can produce either Product ‘A’ or ‘B’. Product ‘A’ can be
produced by using 2 units of chemicals and | unit of & compound and product
‘B can be produced using 1 units of chemical and 2 unit of the compound.
Only 800 units of chemicals and 1000 units of the compound are available.
The profit available, per unit of A and B are Rs. 30 and Rs. 20 respectively.

Find the optimal allocation of units between A and B to maximise the total
profit. Solve Graphically.
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2 ZRmes DomoddE S0P | IRwed Jooksgmm, nEednnTenhad.
B nIFSR, memdI | ISRET WCHIE TR 2 Huwred
HoodnER, ToREATRLER. dmo 800 FUE omobdF Tore 1000
TuE mooksEne TR, ASE Berggng oy I8 a_,»‘aasg Fzomeh
dR. 30 W, T, 20 SATTT. wiy ST, B AL B IR

TRINY NI TowsoHT, FEOD WRVT Eom LAD.

{35) What are the causes of sampling errors? Briefly explain the measures to minimize

them.

SRES IR RURMG CRGD? wgndd, oD SRde wtw
BRonvay, Do

won - 8
Answer any two questions 10 marks each.

CiRRTTEGR SJ& IFRCT LoIdh. IR 10 ovmek :

(6} Fit a Poisson Distribution for the following data?

X 0 1 2 3 4 3 6
f 8 | 27 | 12 7 4 1 1
[¢°™ =0.3716] -

-
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& AT SIOTIR, evTodoeNR Loth TRELH JFoHIDT, wIYSAN

X: 0 [ 2 3 4 5 6

f: 48 27 12 7 4 1 1

(€% =0.3716)

07} A card is drawn at random from a pack of 52 cards. What is the probability
thatit is;
i)  aJack or a Heart.
i) aQueenorakKing.
iii) A Spade or a Diamond.
iv) A red card or a Black card.
v) ‘7 of Hearts’ or ‘3 of Diamonds’.

52 BWBFMLY LOTL IMIVOT Lo |EFI, CIRT Y sz 2ETEN;
Y 2 - [7]

i) reil <o SolF

i) Tord OP=e Dot

i) X vgoe dson

iv) SOTL UEme IX TR

V) Sowrd ‘7 emme daeods Y ehdd sr'rd opsmdichdoldy,
¥O HLACWD.

Q8) Calculate Expected Monetary value and Expected opportunity loss and suggest

the best alternative with prior probabilities and payoffs indicated there in.
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Events |Probabilty Acts
A, A, A, A,
‘ L 0.2 360 310 260 210
E, 0.3 360 380 | 330 | 280
E, 0.2 +360 380 400 350
E 0.3 360 380 400 420

acegs TEATA :5:"9:; WL DO OIAL DYoo ﬁa@mﬁl 6§zsad sk ¥

-

LoDD TorTDechIngeodn ¥ I SodorchI, AREND.

=2

Fadnsd Rogiaeadd ‘é’tﬁﬁ%
AI ’\2 A! Al
E 0.2 360 310 260 210
E, 0.3 360 380 330 280
E, 0.2 360 380 400 350
E 0.3 360 380 400 420

09) List oul the properties of Normat Distribution.
TSR, LECHOD RrEEr v, THERE.

et ~ A

Answer 2ll the questions. 3 marks each,
DUy JFNRORR YIdA. I 3 SO,

P(B) = P(AUB)=

Q10)If P(A)=

mlo—-
vl o
w| &

Find P(AﬁB)
P(A)--— P(B]—— P(AUB)=

'..hH:-
Cl

P(ANB)um), 30T LBIN0.
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Q11)What are Mutually exclusive events?
, B0X0 BodDH TS PLSAD S0TTeH?

{12)State the objectives of Linear ﬁogmnming.

X0y Sesdd DOWF TORFT eroq,wr{sfm&.‘ SeN.

(213)“Census V/s Sampling”.
LRrited acb% TRTE

Q14)Write a note on Decision making.

JeSrd SREHDE Wi wTed wdokd.
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